
:yfoL c:yfoL

s}lkmot

1 sfnL k|zfb ;+Hofn vTof8 & s}nfnL 1 2500 @)&&÷)!÷!(

2 wg?kf h};L vTof8 & s}nfnL 1 2500 @)&&÷)!÷!(

3 gljg h};L vTof8 & s}nfnL 2 3800 @)&&÷)!÷!(

4 6]s jxfb'/ kl/jf/ vTof8 & s}nfnL 1 2500 @)&&÷)!÷!(

5 11300

s}lkmot

1 dfg jxfb'/ sfls{ vTof8 * s}nfnL 1 2500 @)&&÷)!÷!@

3 ljlgtf sfls{ vTof8 * s}nfnL 1 2500 @)&&÷)!÷!$

3 ;Gtf]if /fjt vTof8 * s}nfnL 1 2500 @)&&÷)!÷@@

:yfoL c:yfoL

s}lkmot

1 wg/fd e08f/L vTof8 ( s}nfnL 1 2500 @)&&÷)!÷!(

2 lrg' 8f+u/ vTof8 ( s}nfnL 1 2500 @)&&÷)!÷!(

3 slj ltjf/L vTof8 ( s}nfnL 1 2500 @)&&÷)!÷!(

4 /Tg' e08f/L vTof8 ( s}nfnL 1 2500 @)&&÷)!÷!(

4 10000

1 ljlgtf /f]sfof vTof8 ^ 6Lsfk'/ 1 2500 @)&&÷)!÷!(

2 dlg;f /f]sfof vTof8 ^ 6Lsfk'/ 1 2500 @)&&÷)!÷!(

2 5000

vTof8 ufpFkflnsf j8f g+= & 

vTof8 ufpFkflnsf j8f g+= *

vTof8 ufpFkflnsf d'u'af6 s}nfnLdf /x]sf gful/sx?nfO{ ljt/0f ul/Psf] /fxt ;fdu|L tyf gub ljj/0f

l;=g+= /fxt kfpg]sf] gfd, y/

7]ufgf kl/jf/ 

;+Vof

/sd -

lgodfg';f/_
ldlt

vTof8 ufpFkflnsf j8f g+= ( 

l;=g+= /fxt kfpg]sf] gfd, y/

7]ufgf kl/jf/ 

;+Vof

/sd -

lgodfg';f/_
ldlt

vTof8 ufpFkflnsf j8f g+= %-kfFr_

vTof8 ufpFkflnsf j8f g+= !)


